Dao Rong Tong Product radical classes of  $\ell$ -groups

Czechoslovak Mathematical Journal, Vol. 42 (1992), No. 1, 129-142

Persistent URL: http://dml.cz/dmlcz/128304

# Terms of use:

© Institute of Mathematics AS CR, 1992

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

## PRODUCT RADICAL CLASSES OF *l*-GROUPS

DAO-RONG TON, Nanjing

(Received March 16, 1991)

The main results of this paper concern product radical classes of  $\ell$ -groups. We discuss the product radical mappings and the polar closure operator in the complete lattice  $T_{1'23'}$ , and generalize some results for torsion classes.

We use the standard terminology and notation of [1, 3, 5]. Throughout the paper G is an  $\ell$ -group. We use the additive group notation. Let  $\{G_{\alpha} \mid \alpha \in A\}$  be a family of  $\ell$ -groups and let  $\prod_{\alpha \in A} G_{\alpha}$  be their direct product. For an element  $g \in \prod_{\alpha \in A} G_{\alpha}$ , we denote the  $\alpha$ -component of g by  $g_{\alpha}$ . An  $\ell$ -group G is said to be a subdirect product of  $\ell$ -groups  $G_{\alpha}$ , in symbols  $G \subseteq' \prod_{\alpha \in A} G_{\alpha}$ , if G is an  $\ell$ -subgroup of  $\prod_{\alpha \in A} G_{\alpha}$  such that for each  $\alpha \in A$  and each  $g' \in G_{\alpha}$  there exists  $g \in G$  with the property  $g_{\alpha} = g'$ . We denote the  $\ell$ -subgroup of  $\prod_{\alpha \in A} G_{\alpha}$  consisting of the elements with only finitely many non-zero components by  $\sum_{\alpha \in A} G_{\alpha}$ . It is called the direct sum of  $G_{\alpha}$ . An  $\ell$ -group G is said to be a completely subdirect product of  $G_{\alpha}$ , if G is an  $\ell$ -subgroup of  $\prod_{\alpha \in A} G_{\alpha}$  and  $\sum_{\alpha \in A} G_{\alpha} \subseteq G$ .

Let G be an  $\ell$ -group.  $\mathcal{C}(G)$  will denote the complete lattice of all convex  $\ell$ subgroups of G. For  $g \in G$ , let G(g) be the convex  $\ell$ -subgroup generated by g. If  $X \subseteq G$ ,  $X_G^{\perp} = \{f \in G \mid \text{ for all } x \in X, |f| \land |x| = 0\}$  is called the polar of X in G. If there is no danger of confusion, we simply write  $X^{\perp}$ .

# 1. Classes of $\ell$ -groups

We can form new  $\ell$ -groups from some original  $\ell$ -groups. These structure methods include:

- 1. taking  $\ell$ -subgroups,
- 1'. taking convex  $\ell$ -subgroups,
- 2. forming joins of convex  $\ell$ -subgroups,
- 2'. forming finite joins and chain joins of convex  $\ell$ -subgroups,

- 3. forming completely subdirect products,
- 3'. forming direct products,
- 3". forming direct sums,
- 4. taking  $\ell$ -homomorphic images,
- 4'. taking complete  $\ell$ -homomorphic images,
- 4". taking  $\ell$ -isomorphic images,
- 5. forming extensions, that is, G is an extension of A with respect to B if A is an  $\ell$ -ideal of G and B = G/A.

A family  $\mathcal{U}$  of  $\ell$ -groups is called a class, if it is closed under some of the above structures. If a class  $\mathcal{U}$  is closed under the structures  $i_1$ ,  $i_2$ ,  $i_3$ ,  $i_4$ ,  $i_5$ , we call  $\mathcal{U}$  an  $i_1i_2i_3i_4i_5$ -class, where  $i_1 \in \{1, 1', 4''\}$ ,  $i_2 \in \{2, 2', 4''\}$ ,  $i_3 \in \{3, 3', 3'', 4''\}$ ,  $i_4 \in \{4, 4', 4''\}$ ,  $i_5 \in \{5, 4''\}$ . All our classes are always assumed to contain along with a given  $\ell$ -group all its  $\ell$ -isomorphic copies, so we can omit the index 4''. For example, we simply write the 1'2'-class for the 1'2'4''4''4''-class.

Thus, a radical class [7] is a 1'2-class, a torsion class [12] is a 24-class, a hereditary torsion class [11] is a 1'24-class, a torsion-free class [11] is a 1'3-class, a quasi-torsion class [10] is a 1'24'-class, a complete torsion class [12] is a 245-class, a variety is a 134-class.

Let  $T_{i_1i_2i_3i_4i_5}$  be the collection of all  $i_1i_2i_3i_4i_5$ -classes, It is clear that an  $i_1 \ldots i_{k-1}i_k$ -class is also an  $i_1 \ldots i_{k-1}$ -class  $(2 \leq k \leq 5)$ , that is,  $T_{i_1 \ldots i_{k-1}i_k} \subseteq T_{i_1 \ldots i_{k-1}}$ . We also have  $T_{i_1 \ldots i_k \ldots i_5} \subseteq T_{i_1 \ldots i_k} (1 \leq k \leq 5)$ .

We could have at most  $3 \cdot 3 \cdot 4 \cdot 3 \cdot 2 = 216$  classes of  $\ell$ -groups, but some of them coincide. For example, we will show that  $T_{i_1i_2i_3i_4i_5} = T_{i_12'i_3i_4i_5}$  if  $i_1 \neq 4''$ . It is also clear that  $T_{1i_23i_4i_5} = T_{1i_23'i_4i_5}$ . In general, for  $1'2i_3i_4i_5$ -classes we have the following relations:

A 1'2'3'-class is called a product radical class. A 1'2'3-class is called a subproduct radical class. In this paper we mainly discuss the product radical classes. We will prove that most of the results similar to those from [11] are valid for product radical classes. First, we give some examples of product radical classes:

 $\mathcal{H}$ , the class of hyper-archimedean  $\ell$ -groups. An  $\ell$ -group belongs to  $\mathcal{H}$  if and only if every  $\ell$ -homomorphic image is archimedean.

 $\mathcal{A}r$ , the class of all archimedean  $\ell$ -groups.

 $\mathcal{CD}$ , the class of completely distributive  $\ell$ -groups.

SP, the class of strongly projectable  $\ell$ -groups, that is,  $\ell$ -groups for which each polar is a cardinal summand.

 $\mathcal{B}as$ , the class of all  $\ell$ -groups with a basis ( an  $\ell$ -group has a basis if it has a maximal pairwise disjoint set of basic element).

 $\mathcal{C}$ , the class of all complete  $\ell$ -groups.

Since every variety of  $\ell$ -groups is a torsion class [6] and a torsion-free class, so every variety is a product radical class. Let  $\mathcal{L}$  be the variety of all  $\ell$ -groups. A product radical class  $\mathcal{R}$  is called proper if  $\mathcal{R} \neq \mathcal{L}$ .

#### 2. The product radical mappings

Let  $\mathcal{R}$  be a product radical class and G an  $\ell$ -group. By Zorn's Lemma there exists a maximal convex  $\ell$ -subgroups of G belonging to  $\mathcal{R}$ . We denote it by  $\mathcal{R}(G)$ . Since  $\mathcal{R}$  is closed under finite joins,  $\mathcal{R}(G)$  is the unique largest convex  $\ell$ -subgroup of G belonging to  $\mathcal{R}$ .  $\mathcal{R}(G)$  is called a product radical of G; it is invariant under all  $\ell$ -automorphisms of G, and in particular it is an  $\ell$ -ideal. Let  $\mathcal{R}(G) = \{\mathcal{R}(G) \mid \mathcal{R} \in T_{1'2'3'}\}$  [9].

We have the following elementary fact.

Theorem 2.1. Suppose that  $\mathcal{R}$  is a product radical class. Then

(i) if A is a convex  $\ell$ -subgroup of G then  $\mathcal{R}(A) = A \cap \mathcal{R}(G)$ ;

(ii) if  $\{G_{\lambda} \mid \lambda \in \Lambda\}$  is a family of  $\ell$ -groups then  $\mathcal{R}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right) = \prod_{\lambda \in \Lambda} \mathcal{R}(G_{\lambda}).$ 

Conversely, if we associate with each  $\ell$ -group G an  $\ell$ -ideal  $\mathcal{U}(G)$  subject to (i) and (ii) above, and set  $\mathcal{R} = \{G \mid \mathcal{U}(G) = G\}$ , then  $\mathcal{R}$  is a product radical class, and for each  $\ell$ -group G,  $\mathcal{R}(G) = \mathcal{U}(G)$ .

Proof.  $A \cap \mathcal{R}(G)$  is a convex  $\ell$ -subgroup of  $\mathcal{R}(G)$  and belongs to  $\mathcal{R}$ , so  $A \cap \mathcal{R}(G) \subseteq \mathcal{R}(A)$ .  $\mathcal{R}(A)$  is a convex  $\ell$ -subgroup of G and belongs to  $\mathcal{R}$ , so  $\mathcal{R}(A) \subseteq A \cap \mathcal{R}(G)$ . Therefore  $\mathcal{R}(A) = A \cap \mathcal{R}(G)$ .

Let  $\{G_{\lambda} \mid \lambda \in \Lambda\}$  be a family of  $\ell$ -groups. Then

(1) 
$$\mathcal{R}\left(\prod_{\lambda\in\Lambda}G_{\lambda}\right)\supseteq\prod_{\lambda\in\Lambda}\mathcal{R}(G_{\lambda}).$$

On the other hand, let  $\bar{G}_{\lambda} = \left\{ g \in \prod_{\lambda \in \Lambda} G_{\lambda} \mid \delta \neq \lambda \Rightarrow g_{\delta} = 0 \right\}$ , then  $\bar{G}_{\lambda} \cong G_{\lambda}$ . We see that  $\mathcal{R}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right) \cap \bar{G}_{\lambda}$  is a convex  $\ell$ -subgroup of  $\mathcal{R}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right)$  and  $\bar{G}_{\lambda}$ , so  $\mathcal{R}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right) \cap \bar{G}_{\lambda} \subseteq \mathcal{R}(\bar{G}_{\lambda})$ . Since  $\mathcal{R}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right)$  is a convex  $\ell$ -subgroup of  $\prod_{\lambda \in \Lambda} G_{\lambda}$ ,  $\mathcal{R}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right)^{+} \subseteq \prod_{\lambda \in \Lambda} \left[\mathcal{R}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right)^{+} \cap \bar{G}_{\lambda}\right] \subseteq \prod_{\lambda \in \Lambda} \left[\mathcal{R}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right) \cap \bar{G}_{\lambda}\right]$ .

Hence

(2) 
$$\mathcal{R}\left(\prod_{\lambda\in\Lambda}G_{\lambda}\right)\subseteq\prod_{\lambda\in\Lambda}\left[\mathcal{R}\left(\prod_{\lambda\in\Lambda}G_{\lambda}\right)\cap\bar{G}_{\lambda}\right]\subseteq\prod_{\lambda\in\Lambda}\mathcal{R}(\bar{G}_{\lambda})=\prod_{\lambda\in\Lambda}\mathcal{R}(G_{\lambda}).$$

Combining (1) and (2) we get (ii).

Conversely, suppose the function  $\mathcal{U}$  satisfies (i) and (ii), and  $\mathcal{R}\left\{G \mid \mathcal{U}(G) = G\right\}$ . If  $G \in \mathcal{R}$  and A is a convex  $\ell$ -subgroup of G, then  $\mathcal{U}(A) = A \cap \mathcal{U}(G) = A \cap G = A$ , hence  $A \in \mathcal{R}$ . Next, suppose  $\{C_{\lambda} \mid \lambda \in \Lambda\}$  is a family of convex  $\ell$ -subgroups of an  $\ell$ -group  $G, C = \bigvee_{\lambda \in \Lambda} C_{\lambda}$ , and  $C_{\lambda} \in \mathcal{R}$  for each  $\lambda$ . Then  $C_{\lambda} = \mathcal{U}(C_{\lambda}) = C_{\lambda} \cap \mathcal{U}(G) \in \mathcal{C}(\mathcal{U}(G))$ , so  $\bigvee_{\lambda \in \Lambda} C_{\lambda} \in \mathcal{C}(\mathcal{U}(G))$ . But  $\mathcal{U}(\mathcal{U}(G)) = \mathcal{U}(G)$  implies  $\mathcal{U}(G) \in \mathcal{R}$ . By the above we get  $\bigvee_{\lambda \in \Lambda} C_{\lambda} \in \mathcal{R}$ . This implies that  $\mathcal{R}$  is closed under the structure 2, in particular,  $\mathcal{R}$  is closed under the structure 2'.

Suppose that  $\{G_{\lambda} \mid \lambda \in \Lambda\}$  is a family of  $\ell$ -groups, and  $G_{\lambda} \in \mathcal{R}$  for each  $\lambda$ . Then  $\mathcal{U}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right) = \prod_{\lambda \in \Lambda} \mathcal{U}(G_{\lambda}) = \prod_{\lambda \in \Lambda} G_{\lambda}$ , hence  $\prod_{\lambda \in \Lambda} G_{\lambda} \in \mathcal{R}$ . Therefore  $\mathcal{R}$  is a product radical class.  $\mathcal{U}(G) \in \mathcal{R}$  implies  $\mathcal{U}(G) \subseteq \mathcal{R}(G)$ . On the other hand,  $\mathcal{R}(G) = \mathcal{U}(\mathcal{R}(G)) = \mathcal{R}(G) \cap \mathcal{U}(G) \subseteq \mathcal{U}(G)$ . Hence  $\mathcal{R}(G) = \mathcal{U}(G)$ .

Any mapping  $G \to \mathcal{U}(G)$  on the variety  $\mathcal{L}$  of all  $\ell$ -groups satisfying the above properties (i) and (ii) is called a product radical mapping. Thus there exists a 1-1 correspondence between the product radical classes and the product radical mappings. From the above proof we see that a product radical class is always closed under forming joins of convex  $\ell$ -subgroups, by a product radical class we always mean a 1'23'-class. In the general we have

Corollary 2.2.  $T_{i_12i_3i_4i_5} = T_{i_12'i_3i_4i_5}$  if  $i_1 \neq 4''$ . In particular,  $T_{1'2'3'} = T_{1'23'}$ .

**Proposition 2.3.** Suppose that  $\mathcal{R}$  is a product radical class and  $\{G_{\lambda} \mid \lambda \in \Lambda\}$  is a family of convex  $\ell$ -subgroups of the  $\ell$ -group G. Then

(1) 
$$\mathcal{R}\left(\bigvee_{\lambda\in\Lambda}G_{\lambda}\right) = \bigvee_{\lambda\in\Lambda}\mathcal{R}(G_{\lambda}),$$
  
(2)  $\mathcal{R}\left(\bigcap_{\lambda\in\Lambda}G_{\lambda}\right) = \bigcap_{\lambda\in\Lambda}\mathcal{R}(G_{\lambda}).$ 

The proof of this proposition is similar to the proof of Proposition 1.1 and Proposition 1.3 in [11].

# 3. The complete lattice $T_{1'23'}$

Suppose  $\{\mathcal{U}_{\lambda} \mid \lambda \in \Lambda\} \subseteq T_{1'23'}$ . Since the intersection of a family of product radical classes is also a product radical class, we can define

$$\bigwedge_{\lambda \in \Lambda} \mathcal{U}_{\lambda} = \bigcap_{\lambda \in \Lambda} \mathcal{U}_{\lambda},$$
$$\bigvee_{\lambda \in \Lambda} \mathcal{U}_{\lambda} = \bigcap \{ \mathcal{U} \in T_{1'23'} \mid \mathcal{U} \supseteq \mathcal{U}_{\lambda} \text{ for each } \lambda \in \Lambda \}.$$

**Theorem 3.1.**  $T_{1'23'}$  is a complete lattice. If  $\{\mathcal{U}_{\lambda} \mid \lambda \in \Lambda\} \subseteq T_{1'23'}, \{\mathcal{U}_{i} \mid i = 1, \ldots, n\} \subseteq T_{1'23'}$ , then for each  $\ell$ -group G,

(3) 
$$\left(\bigwedge_{\lambda\in\Lambda}\mathcal{U}_{\lambda}\right)(G)=\bigcap_{\lambda\in\Lambda}\mathcal{U}_{\lambda}(G)$$

and

(4) 
$$\left(\bigvee_{i=1}^{n} \mathcal{U}_{i}\right)(G) = \bigvee_{i=1}^{n} \mathcal{U}_{i}(G),$$

where  $\bigvee_{i=1}^{n} \mathcal{U}_{i}(G)$  is the convex  $\ell$ -subgroup generated by  $\mathcal{U}_{i}(G)$  (i = 1, ..., n). Hence  $T_{1'23'}$  is a sublattice of  $T_{1'2}$  and the meets of  $T_{1'23'}$  agree which those of  $T_{1'2}$ .

Proof. The formula (3) is clear. We only prove (4). First,  $G \to \bigvee_{i=1}^{n} \mathcal{U}_{i}(G)$  is a product radical mapping. In fact,  $\bigvee_{i=1}^{n} \mathcal{U}_{i}(A) = \bigvee_{i=1}^{n} (A \cap \mathcal{U}_{i}(G)) = A \cap (\bigvee_{i=1}^{n} \mathcal{U}_{i}(G))$  for each  $A \in \mathcal{C}(G)$ . For any family  $\{G_{\delta} \mid \delta \in \Delta\}$  of  $\ell$ -groups, evidently  $\prod_{\delta \in \Delta} \bigvee_{i=1}^{n} \mathcal{U}_{i}(G_{\delta}) \supseteq$  $\bigvee_{i=1}^{n} \prod_{\delta \in \Delta} \mathcal{U}_{i}(G_{\delta})$ . If  $a = (\dots, a_{\delta}, \dots) \in \prod_{\delta \in \Delta} \bigvee_{i=1}^{n} \mathcal{U}_{i}(G_{\delta})$ , then for each  $\delta \in \Delta$   $a_{\delta} = a_{\delta_{1}} + \dots + a_{\delta_{n}}, a_{\delta_{i}} \in \mathcal{U}_{i}(G_{\delta})$   $(1 \leq i \leq n)$ . So  $a = (\dots, a_{\delta_{1}}, \dots) + \dots + (\dots, a_{\delta_{n}}, \dots)$ , where  $(\dots, a_{\delta_{i}}, \dots) \in \prod_{\delta \in \Delta} \mathcal{U}_{i}(G_{\delta})$   $(1 \leq i \leq n)$ . Hence  $a \in \bigvee_{i=1}^{n} \prod_{\delta \in \Delta} \mathcal{U}_{i}(G_{\delta})$ . Therefore  $\prod_{\delta \in \Delta} \bigvee_{i=1}^{n} \mathcal{U}_{i}(G_{\delta}) = \bigvee_{i=1}^{n} \prod_{\delta \in \Delta} \mathcal{U}_{i}(G_{\delta})$ . Thus, (i) and (ii) of Theorem 2.1 are satisfied and  $\bigvee_{i=1}^{n} \mathcal{U}_{i}(G)$  defines a product radical class  $\mathcal{U} = \{G \mid G = \bigvee_{i=1}^{n} \mathcal{U}_{i}(G)\}$ . If  $\mathcal{R}$  is a product radical class such so that  $\mathcal{R} \supseteq \mathcal{U}_{i}$   $(1 \leq i \leq n)$  and  $G \in \mathcal{U}$ , then  $\mathcal{R}(G) = \mathcal{R}(\bigvee_{i=1}^{n} \mathcal{U}_{i}(G)) = \bigvee_{i=1}^{n} \mathcal{R}(\mathcal{U}_{i}(G)) = \bigvee_{i=1}^{n} \mathcal{U}_{i}(G)$ .

Note 1. From the formulas (3) and (4) we have  $\mathcal{I} \wedge \left(\bigvee_{i=1}^{n} \mathcal{U}_{i}\right) = \bigvee_{i=1}^{n} (\mathcal{I} \wedge \mathcal{U}_{i})$ . Nonetheless, it is not generally true that  $\mathcal{I}\left(\bigvee_{\lambda \in \Lambda} \mathcal{U}_{\lambda}\right) = \bigvee_{\lambda \in \Lambda} (\mathcal{I} \wedge \mathcal{U}_{\lambda})$ . So  $T_{1'23'}$  is not a Brouwerian lattices. Nor is it generally true that  $\mathcal{I} \vee \left(\bigwedge_{\lambda \in \Lambda} \mathcal{U}_{\lambda}\right) = \bigwedge_{\lambda \in \Lambda} (\mathcal{I} \vee \mathcal{U}_{\lambda})$ . In general,  $\mathcal{I} \vee \left(\bigwedge_{\lambda \in \Lambda} \mathcal{U}_{\lambda}\right) \subseteq \bigwedge_{\lambda \in \Lambda} (\mathcal{I} \vee \mathcal{U}_{\lambda})$ . Note 2. The general form of (4) is  $\left(\bigvee_{\lambda \in \Lambda} \mathcal{U}_{\lambda}\right)(G) = \bigvee_{\lambda \in \Lambda} \mathcal{U}_{\lambda}(G)$ . It is valid for radical classes and torsion classes. Let  $\{\mathcal{U}_{\lambda} \mid \lambda \in \Lambda\}$  be a family of  $1'2i_3i_4i_5$ -classes. From the proof of Theorem 3.1 we know that  $\left(\bigvee_{\lambda \in \Lambda} \mathcal{U}_{\lambda}\right)(G) = \bigvee_{\lambda \in \Lambda} \mathcal{U}_{\lambda}(G)$ , if and only if  $\mathcal{R} = \{G \mid G = \bigvee_{\lambda \in \Lambda} \mathcal{U}_{\lambda}(G)\}$  defines a  $1'2i_3i_4i_5$ -class if and only if  $T_{1'2i_3i_4i_5}$  is a complete sublattice of  $T_{1'2}$ .  $T_{1'23'}$  is not a complete sublatice of  $T_{1'2}$ .

Note 3. By Theorem 3.1 we see that R(G) is a sublattice of  $\mathcal{C}(G)$  for an  $\ell$ -group G.

Since a product radical class is a radical class, for any two product radical classes  $\mathcal{I}$  and  $\mathcal{U}$  we also have their product  $\mathcal{I}.\mathcal{U} = \{G \mid G/\mathcal{I}(G) \in \mathcal{U}\}$  [8].

**Theorem 3.2.**  $\mathcal{I}.\mathcal{U}$  is a product radical class whenever  $\mathcal{I}$  and  $\mathcal{U}$  are; if G is an  $\ell$ -group, the product radical  $\mathcal{I}.\mathcal{U}(G)$  is defined by the equation  $\mathcal{I}.\mathcal{U}(G)/\mathcal{I}(G) = \mathcal{U}(G/\mathcal{I}(G))$ . Consequently,  $T_{1'23'}$  is a subsemigroup of  $T_{1'2}$ .

Proof. We will prove that  $\mathcal{I}.\mathcal{U}(G)$  satisfies (i) and (ii) of Theorem 2.1. Suppose that A is a convex  $\ell$ -subgroup of G. To show that  $\mathcal{I}.\mathcal{U}(A) = A \cap \mathcal{I}.\mathcal{U}(G)$  we prove that  $[A \cap \mathcal{I}.\mathcal{U}(G)]/\mathcal{I}(A) = \mathcal{U}(A/\mathcal{I}(A)).$ 

$$\begin{split} [A \cap \mathcal{I}.\mathcal{U}(G)]/\mathcal{I}(A) &= [A \cap \mathcal{I}.\mathcal{U}(G)]/[A \cap \mathcal{I}(G)] \\ &\cong \left[ (A \cap \mathcal{I}.\mathcal{U}(G)) \vee \mathcal{I}(G) \right]/\mathcal{I}(G) = [A \vee \mathcal{I}(G)] \cap \mathcal{I}.\mathcal{U}(G)/\mathcal{I}(G) \\ &= [A \vee \mathcal{I}(G)/\mathcal{I}(G)] \cap [\mathcal{I}.\mathcal{U}(G)/\mathcal{I}(G)] \\ &= [A \vee \mathcal{I}(G)/\mathcal{I}(G)] \cap \mathcal{U}(G/\mathcal{I}(G)) = \mathcal{U}(A \vee \mathcal{I}(G))/\mathcal{I}(G) \\ &\cong \mathcal{U}(A/A \cap \mathcal{I}(G)) = \mathcal{U}(A/\mathcal{I}(A)). \end{split}$$

Next, let  $\{G_{\lambda} \mid \lambda \in \Lambda\}$  be a family of  $\ell$ -groups. Then

$$\left[\prod_{\lambda \in \Lambda} \mathcal{I}.\mathcal{U}(G_{\lambda})\right] / \mathcal{I}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right) = \left[\prod_{\lambda \in \Lambda} \mathcal{I}.\mathcal{U}(G_{\lambda})\right] / \left[\prod_{\lambda \in \Lambda} \mathcal{I}(G_{\lambda})\right]$$
$$= \prod_{\lambda \in \Lambda} \left[\mathcal{I}.\mathcal{U}(G_{\lambda})/\mathcal{I}(G_{\lambda})\right] = \prod_{\lambda \in \Lambda} \mathcal{U}(G_{\lambda}/\mathcal{I}(G_{\lambda}))$$
$$= \mathcal{U}\left(\prod_{\lambda \in \Lambda} (G_{\lambda}/\mathcal{I}(G_{\lambda}))\right) = \mathcal{U}\left(\prod_{\lambda \in \Lambda} G_{\lambda} / \prod_{\lambda \in \Lambda} \mathcal{I}(G_{\lambda})\right)$$
$$= \mathcal{U}\left(\prod_{\lambda \in \Lambda} G_{\lambda} / \mathcal{I}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right)\right) = \mathcal{I}.\mathcal{U}\left(\prod_{\lambda \in \Lambda} g_{\lambda}\right) / \mathcal{I}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right).$$

That is,  $\mathcal{I}.\mathcal{U}\left(\prod_{\lambda\in\Lambda}G_{\lambda}\right) = \prod_{\lambda\in\Lambda}\mathcal{I}.\mathcal{U}(G_{\lambda})$ . Hence  $\mathcal{I}.\mathcal{U}(G)$  is a product radical. It is clear that  $G \in \mathcal{I}.\mathcal{U}$  if and only if  $\mathcal{I}.\mathcal{U}(G) = G$ . So  $\mathcal{I}.\mathcal{U}$  is the product radical class defined by  $\mathcal{I}.\mathcal{U}(G)$ .

**Corollary 3.3.** Suppose  $\mathcal{I}, \mathcal{U}, \mathcal{U}' \in T_{1'23'}$ . If  $\mathcal{U} \supseteq \mathcal{U}'$ , then  $\mathcal{I}.\mathcal{U} \supseteq \mathcal{I}.\mathcal{U}'$ .

**Theorem 3.4.** Let  $\mathcal{U}$ ,  $\{\mathcal{I}_{\lambda} \mid \lambda \in \Lambda\}$ ,  $\{\mathcal{I}_{i} \mid i = 1, ..., n\}$  be product radical classes. Then (1)  $\mathcal{U} \left( \Lambda \mathcal{T}_{\lambda} \right) = \Lambda \mathcal{U} \mathcal{T}_{\lambda}$ .

(1) 
$$\mathcal{U}.\left(\bigwedge_{\lambda\in\Lambda}\mathcal{I}_{\lambda}\right) = \bigwedge_{\lambda\in\Lambda}\mathcal{U}.\mathcal{I}_{\lambda}$$
  
(2)  $\bigvee_{i=1}^{n}\mathcal{U}.\mathcal{I}_{i} = \mathcal{U}.\left(\bigvee_{i=1}^{n}\mathcal{I}_{i}\right).$ 

Proof. (1) By Theorem 3.1 we have

$$\mathcal{U} \cdot \left(\bigwedge_{\lambda \in \Lambda} \mathcal{I}_{\lambda}\right)(G) / \mathcal{U}(G) = \left(\bigwedge_{\lambda \in \Lambda} \mathcal{I}_{\lambda}\right)(G / \mathcal{U}(G))$$
  
=  $\bigwedge_{\lambda \in \Lambda} \mathcal{I}_{\lambda}(G / \mathcal{U}(G)) = \bigwedge_{\lambda \in \Lambda} [\mathcal{U} \cdot \mathcal{I}_{\lambda}(G) / \mathcal{U}(G)]$   
=  $\left[\bigwedge_{\lambda \in \Lambda} \mathcal{U} \cdot \mathcal{I}_{\lambda}(G)\right] / \mathcal{U}(G) = \left(\bigwedge_{\lambda \in \Lambda} \mathcal{U} \cdot \mathcal{I}_{\lambda}\right)(G) / \mathcal{U}(G).$ 

Hence  $\mathcal{U}.\left(\bigwedge_{\lambda\in\Lambda}\mathcal{I}_{\lambda}\right)(G) = \left(\bigwedge_{\lambda\in\Lambda}\mathcal{U}.\mathcal{I}_{\lambda}\right)(G)$  for any  $\ell$ -group G, and so  $\mathcal{U}.\left(\bigwedge_{\lambda\in\Lambda}\mathcal{I}_{\lambda}\right) = \bigwedge_{\lambda\in\Lambda}\mathcal{U}.\mathcal{I}_{\lambda}.$ 

(2) It follows from Theorem 3.1 that

$$\begin{bmatrix} \mathcal{U} \cdot \left(\bigvee_{i=1}^{n} \mathcal{I}_{i}\right) \end{bmatrix} (G) / \mathcal{U}(G) = \left(\bigvee_{i=1}^{n} \mathcal{I}_{i}\right) (G / \mathcal{U}(G))$$
$$= \bigvee_{i=1}^{n} \mathcal{I}_{i} (G / \mathcal{U}(G)) = \bigvee_{i=1}^{n} [\mathcal{U} \cdot \mathcal{I}_{i}(G) / \mathcal{U}(G)]$$
$$= \left[\bigvee_{i=1}^{n} \mathcal{U} \cdot \mathcal{I}_{i}(G)\right] / \mathcal{U}(G) = \left(\bigvee_{i=1}^{n} \mathcal{U} \cdot \mathcal{I}_{i}\right) (G) / \mathcal{U}(G).$$

Therefore  $\left[\mathcal{U}.\left(\bigvee_{i=1}^{n}\mathcal{I}_{i}\right)\right](G) = \left(\bigvee_{i=1}^{n}\mathcal{U}.\mathcal{I}_{i}\right)(G)$  for any  $\ell$ -group G, and so  $\mathcal{U}.\left(\bigvee_{i=1}^{n}\mathcal{I}\right) = \bigvee_{i=1}^{n}\mathcal{U}.\mathcal{I}_{i}.$ 

In this section we define some new product radical classes from the old ones by taking closures of the product radicals. Suppose that  $\mathcal{R}$  is a product radical class. Let  $\mathcal{R}^{\perp} = \{G \mid \mathcal{R}(G) = 0\}$ . Clearly  $\mathcal{R}^{\perp}$  is also a product radical class.  $\mathcal{R}^{\perp}$  is called the polar of  $\mathcal{R}$ .

**Theorem 4.1.** For any product radical class  $\mathcal{R}$ ,  $\mathcal{R}^{\perp}(G) = \mathcal{R}(G)^{\perp}$ .

Proof. We show that  $G \to \mathcal{R}(G)^{\perp}$  is a product radical mapping. Let  $A \in \mathcal{C}(G)$ . Then  $\mathcal{R}(A)^{\perp} = (A \cap \mathcal{R}(G))^{\perp}_{A} = A \cap \mathcal{R}(G)^{\perp}$ . Let  $\{G_{\lambda} \mid \lambda \in \Lambda\}$  be a family of  $\ell$ groups. Then  $\left[\mathcal{R}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right)\right]^{\perp}_{\substack{\Lambda \in \Lambda}} = \left[\prod_{\lambda \in \Lambda} \mathcal{R}(G_{\lambda})\right]^{\perp}_{\substack{\Lambda \in \Lambda}} = \prod_{\lambda \in \Lambda} \mathcal{R}(G_{\lambda})^{\perp}_{G_{\lambda}}$ . Thus  $\mathcal{R}(G)^{\perp}$  defines a product radical class  $\mathcal{I}$ . It is obvious that  $\mathcal{I} = \mathcal{R}^{\perp}$ .

Let G be an  $\ell$ -group. By Proposition 1.2.6 of [1],  $\mathcal{R}(G)^{\perp}$  is the unique largest convex  $\ell$ -subgroup for which  $\mathcal{R}(G) \cap \mathcal{R}(G)^{\perp} = 0$ .

This and Theorem 3.1 imply that  $\mathcal{R}^{\perp}$  is the unique largest product radical class for which  $\mathcal{R} \wedge \mathcal{R}^{\perp} = 0$ . This complementation polar operator defines a Galois connection which has the following properties: Let  $\mathcal{R}$  and  $\mathcal{I}$  be product radical classes. Define  $\mathcal{R}^{\perp \perp} = (\mathcal{R}^{\perp})^{\perp}$ . Then

(5) (1)  $\mathcal{R} \subseteq \mathcal{R}^{\perp \perp};$ (2) if  $\mathcal{R} \subseteq \mathcal{I}$ , then  $\mathcal{R}^{\perp} \supseteq \mathcal{I}^{\perp};$ (3)  $\mathcal{R}^{\perp} = \mathcal{R}^{\perp \perp \perp};$ (4)  $(\mathcal{R} \lor \mathcal{I})^{\perp} = \mathcal{R}^{\perp} \land \mathcal{I}^{\perp}.$ 

From Theorem 4.1 in [4] we have

**Corollary 4.2.** The polar operator in  $T_{1'23'}$  agrees with that in  $T_{1'2}$ .

From the formula (5) and Lemma 1 in [2] we get

**Proposition 4.3.** The mapping  $\mathcal{R} \to \mathcal{R}^{\perp \perp}$  is a closure operator in  $T_{1'23'}$ ; (1)  $\mathcal{R}^{\perp \perp} = (\mathcal{R}^{\perp \perp})^{\perp \perp}$ ; (2) if  $\mathcal{R} \subseteq \mathcal{I}$ , then  $\mathcal{R}^{\perp \perp} \subseteq \mathcal{I}^{\perp \perp}$ ; (3)  $(\mathcal{R} \cap \mathcal{I})^{\perp \perp} = \mathcal{R}^{\perp \perp} \cap \mathcal{I}^{\perp \perp}$ .

A product radical class  $\mathcal{R}$  is said to be a polar product radical class if  $\mathcal{R} = \mathcal{R}^{\perp \perp}$ . Let  $T_{1'23'}^p$  be the set of all polar product radical classes. Then  $T_{1'23'}^p$  is a complete Boolean algebra under inclusion, in which meets agree with those of  $T_{1'23'}$  but joins need not.

A product radical class  $\mathcal{I}$  is called complete (or idempotent), if  $\mathcal{I} \in T_{1'23'5}$ , that is  $\mathcal{I}.\mathcal{I} = \mathcal{I}$ . We now seek to give a more precise description of complete product radical classes. Let  $\mathcal{I}$  be a product radical class and  $\sigma$  an ordinal number. We define an ascending sequence  $\mathcal{I}, \mathcal{I}^2, \ldots, \mathcal{I}^{\sigma}, \ldots$  as follows:

$$\mathcal{I}^{\sigma} = \begin{cases} \mathcal{I}.\mathcal{I}^{\sigma-1} \text{ if } \sigma \text{ is not a limit ordinal,} \\ \{G \mid G = \bigcup_{\alpha < \sigma} \mathcal{I}^{\alpha}(G) \} \text{ if } \sigma \text{ is a limit ordinal.} \end{cases}$$

We will show that  $\mathcal{I}^{\sigma}$  is a product radical class for each  $\sigma$ . In fact, using the transfinite inclusion we can show that

$$G \to \mathcal{I}^{\sigma}(G) = \begin{cases} \mathcal{I}. \mathcal{I}^{\sigma-1}(G) \text{ if } \sigma \text{ is not a limit ordinal,} \\ \bigcup_{\alpha < \sigma} \mathcal{I}^{\alpha}(G) \text{ if } \sigma \text{ is a limit ordinal} \end{cases}$$

are product radical mappings. It suffices to verify that  $G \to \bigcup_{\alpha < \sigma} \mathcal{I}^{\alpha}(G)$  are product radical mappings for limit numbers  $\sigma$ . For any  $A \in \mathcal{C}(G)$  we have  $\mathcal{I}^{\sigma}(A) = \bigcup_{\alpha < \sigma} \mathcal{I}^{\sigma}(A) = \bigcup_{\alpha < \sigma} \mathcal{I}^{\sigma}(G) = A \cap \mathcal{I}^{\alpha}(G) = A \cap \mathcal{I}^{\sigma}(G)$ . Let  $\{G_{\lambda} \mid \lambda \in \Lambda\}$ be a family of  $\ell$ -groups. Then

$$\mathcal{I}^{\sigma}\left(\prod_{\lambda\in\Lambda}G_{\lambda}\right) = \bigcup_{\alpha<\sigma}\mathcal{I}^{\alpha}\left(\prod_{\lambda\in\Lambda}G_{\lambda}\right) = \bigcup_{\alpha<\sigma}\prod_{\lambda\in\Lambda}\mathcal{I}^{\alpha}(G_{\lambda})$$
$$\subseteq \prod_{\lambda\in\Lambda}\left[\bigcup_{\alpha<\sigma}\mathcal{I}^{\alpha}(G_{\lambda})\right] = \prod_{\lambda\in\Lambda}\mathcal{I}^{\sigma}(G_{\lambda}).$$

On the other hand, let  $a \in \prod_{\lambda \in \Lambda} \left[ \bigcup_{\alpha < \sigma} \mathcal{I}^{\alpha}(G_{\lambda}) \right]$ ,  $a = (\ldots, a_{\lambda}, \ldots)$ , where  $a_{\lambda} \in \mathcal{I}^{\alpha_{\lambda}}(G_{\lambda})$ for  $\lambda \in \Lambda$ . Put  $\overline{\mathcal{I}^{\alpha_{\lambda}}(G_{\lambda})} = \{ f \in \prod_{\lambda' \in \Lambda} \mathcal{I}^{\alpha_{\lambda}}(G_{\lambda'}) \mid \text{ if } \lambda' \neq \lambda, f_{\lambda'} = 0 \}$ . Then

$$\overline{\mathcal{I}^{\alpha_{\lambda}}(G_{\lambda})} \subseteq \prod_{\lambda' \in \Lambda} \mathcal{I}^{\alpha_{\lambda}}(G_{\lambda'}) \subseteq \bigcup_{\alpha < \sigma} \prod_{\lambda \in \Lambda} \mathcal{I}^{\alpha}(G_{\lambda}).$$

So

$$a \in \prod_{\lambda \in \Lambda} \mathcal{I}^{\alpha_{\lambda}}(G_{\lambda}) = \prod_{\lambda \in \Lambda} \overline{\mathcal{I}^{\alpha_{\lambda}}(G_{\lambda})} \subseteq \bigcup_{\alpha < \sigma} \prod_{\lambda \in \Lambda} \mathcal{I}^{\alpha}(G_{\lambda}).$$

Therefore

$$\mathcal{I}^{\sigma}\left(\prod_{\lambda\in\Lambda}G_{\lambda}\right)=\prod_{\lambda\in\Lambda}\mathcal{I}^{\sigma}(G_{\lambda}).$$

We define

$$\mathcal{I}^* = \bigcup_{\sigma} \mathcal{I}^{\sigma}$$

**Theorem 4.4.** Let  $\mathcal{I}$  be a product radical class. Then  $\mathcal{I}^*$  is a complete product radical class. It is the smallest complete product radical class containing  $\mathcal{I}$ . Hence  $\mathcal{I}$  is complete if and only if  $\mathcal{I} = \mathcal{I}^*$ .

Proof. Let G be an  $\ell$ -group. For sufficiently large  $\sigma$  (depending on G),  $\mathcal{I}^{\sigma}(G) = \mathcal{I}^{\sigma+1}(G) = \ldots$  For such  $\sigma$ , we define  $\mathcal{I}^*(G) = \mathcal{I}^{\sigma}(G)$ . Clearly  $G \in \mathcal{I}^*$  if and only if  $\mathcal{I}^*(G) = G$ . We will show that  $\mathcal{I}^*(G)$  satisfies (i) and (ii) of Theorem 2.1. For  $A \in \mathcal{C}(G)$ ,  $\mathcal{I}^{\sigma}(G) = \mathcal{I}^{\sigma+1}(G) = \ldots$  implies  $\mathcal{I}^{\sigma}(A) = A \cap \mathcal{I}^{\sigma}(G) = A \cap \mathcal{I}^{\sigma+1}(G) = \mathcal{I}^{\sigma+1}(A) = \ldots$  So  $\mathcal{I}^*(A) = \mathcal{I}^{\sigma}(A) = A \cap \mathcal{I}^{\sigma}(G)$ .

Let  $\{G_{\lambda} \mid \lambda \in \Lambda\}$  be a family of  $\ell$ -groups. For sufficiently large  $\sigma \mathcal{I}^{\sigma}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right) = \mathcal{I}^{\sigma+1}\left(\prod_{\lambda \in \Lambda} G_{\lambda}\right) = \dots$  Hence  $\prod_{\lambda \in \Lambda} \mathcal{I}^{\sigma}(G_{\lambda}) = \prod_{\lambda \in \Lambda} \mathcal{I}^{\sigma+1}(G_{\lambda}) = \dots$ , and so  $\mathcal{I}^{\sigma}(G_{\lambda}) = \mathcal{I}^{\sigma+1}(G_{\lambda}) = \dots$  for each  $\lambda \in \Lambda$ . It follows that

$$\mathcal{I}^*\left(\prod_{\lambda\in\Lambda}G_{\lambda}\right)=\mathcal{I}^{\sigma}\left(\prod_{\lambda\in\Lambda}G_{\lambda}\right)=\prod_{\lambda\in\Lambda}\mathcal{I}^{\sigma}(G_{\lambda})=\prod_{\lambda\in\Lambda}\mathcal{I}^*(G_{\lambda}).$$

This proves that  $\mathcal{I}^*$  is a product radical class.

By using the transfinite induction we can show that  $\mathcal{I}^* . \mathcal{I}^\sigma = \mathcal{I}^*$ , so  $\mathcal{I}^*$  is complete. If  $\mathcal{U}$  is a complete product radical class containing  $\mathcal{I}$  then by another induction approach we have  $\mathcal{I}^\sigma \subseteq \mathcal{U}$  for each ordinal  $\sigma$ . Thus  $\mathcal{I}^* \subseteq \mathcal{U}$  as claimed.  $\Box$ 

 $\mathcal{I}^*$  is called the completion of  $\mathcal{I}$ .

Similarly to Theorem 1.7 in [11] we have

**Proposition 4.5.** Let  $\mathcal{I}$  be a product radical class, and let G be an  $\ell$ -group. Then  $\mathcal{I}^*(G) \subseteq \mathcal{I}(G)^{\perp \perp}$ . That is,  $\mathcal{I}^* \subseteq \mathcal{I}^{\perp \perp}$ .

**Corollary 4.6.** A polar product radical class is complete, that is,  $T_{1'23'}^p \subseteq T_{1'23'} \subseteq T_{1'23'} \subseteq T_{1'2}$ .

From Proposition 4.3 and Proposition 4.5 we also get

**Corollary 4.7.** For any product radical class  $\mathcal{I}$ ,  $(\mathcal{I}^*)^{\perp \perp} = \mathcal{I}^{\perp \perp}$ .

Now we give a more precise description of the polar product radical class.

**Propositon 4.8.** Let  $\mathcal{R}$  be a product radical class, then  $\mathcal{R}^{\perp\perp} = \{G \mid \mathcal{R}(C) \neq 0 \text{ for each convex } l$ -subgroup  $C \neq 0$  of  $G\}$ .

Proof.  $\mathcal{R}^{\perp}(G)$  is the largest convex  $\ell$ -subgrup C of G such that  $\mathcal{R}(C) = 0$ . So  $\mathcal{R}^{\perp}(G) = 0$  if and only if  $\mathcal{R}(C) \neq 0$  for each convex  $\ell$ -subgroup  $C \neq 0$  of G. It follows from Theorem 4.1 that  $G \in \mathcal{R}^{\perp \perp}$  if and only if  $\mathcal{R}^{\perp}(G) = 0$ , if and only if  $\mathcal{R}(C) \neq 0$  for each convex  $\ell$ -subgroup  $C \neq 0$  of G.

The following theorem is a direct consequence of Proposition 4.8.

**Theorem 4.9.** Let  $\mathcal{R}$  be a product radical class. Then the following assertions are equivalent:

(1)  $\mathcal{R}$  is a polar product radical class.

(2) If  $\mathcal{R}(C) \neq 0$  for each convex  $\ell$ -subgroup C of G, then  $G \in \mathcal{R}$ .

(3) If for each  $0 < x \in G$  there exists an element  $0 < y \leq nx$  (with a suitable integer n) such that  $G(y) \in \mathcal{R}$ , then  $G \in \mathcal{R}$ .

Corollary 4.10. Let  $\mathcal{I}$  and  $\mathcal{R}$  be product radical classes and  $\mathcal{I} \cap \mathcal{R} = 0$ . Then  $\mathcal{I}^{\perp \perp} \cap \mathcal{R}^{\perp \perp} = 0$  and  $\mathcal{I}^* \cap \mathcal{R}^* = 0$ .

Proof. Suppose  $\mathcal{I} \cap \mathcal{R} = 0$  and  $0 \neq G \in \mathcal{I}^{\perp \perp} \cap \mathcal{R}^{\perp \perp}$ . It follows from Proposition 4.8 that  $\mathcal{I}(C) \neq 0$  for each convex  $\ell$ -subgroup  $C \neq 0$  of G. In particular,  $\mathcal{I}(G) \neq 0$ .  $\mathcal{I}(G) \in \mathcal{R}^{\perp \perp}$  implies  $\mathcal{R}(\mathcal{I}(G)) \neq 0$ . Thus  $o \neq \mathcal{R}(\mathcal{I}(G)) \in \mathcal{I} \cap \mathcal{R}$ . This contradicts  $\mathcal{I} \cap \mathcal{R} = 0$ . Hence  $\mathcal{I}^{\perp \perp} \cap \mathcal{R}^{\perp \perp} = 0$ . It follows from Proposition 4.5 and  $\mathcal{I}^{\perp \perp} \cap \mathcal{R}^{\perp \perp} = 0$  that  $\mathcal{I}^* \cap \mathcal{R}^* = 0$ .

From Proposition 4.4 in [4] and the above Proposition 3.2 and Corollary 4.2 we get

**Corollary 4.11.** For any product radical class  $\mathcal{R}$ ,  $\mathcal{R}^{\perp \perp}$  is complete.

This corollary is also a consequence of Proposition 4.3(1) and Corollary 4.6. Similarly to Theorem 4.8 in [4] we have

**Propositon 4.12.** The mapping  $\mathcal{R} \to \mathcal{R}^{\perp \perp}$  is a semigroup endomorphism in  $T_{1'23'}$ .

Corollary 4.13.  $T_{1'23'}^p$  is a subsemigroup of  $T_{1'23'}$ .

## 5. 1'23'-homogeneous $\ell$ -groups

For a family X of  $\ell$ -groups we denote by  $\mathcal{R}(X)$  the intersection of all  $\mathcal{I} \in T_{1'23'}$ with  $X \subseteq \mathcal{I}$ . It is said to be the product radical class generated by X. The product radical class generated by an  $\ell$ -group G is denoted by  $\mathcal{R}_G$ . For a family X of  $\ell$ -groups let J(X) be the joins  $G = \bigvee_{\lambda \in \Lambda} G_{\lambda}$  with  $G_{\lambda} \in X \cap \mathcal{C}(G)(\lambda \in \Lambda)$ . Let P(X) and C(X)denote the classes of  $\ell$ -groups which are products or convex  $\ell$ -subgroups, respectively, of elements of X. Clearly J(X), P(X) and C(X) are the classes containing X and belonging to  $T_2$ ,  $T_{3'}$  and  $T_{1'}$ , respectively.

**Theorem 5.1.** Suppose that X is any family of  $\ell$ -groups. Then  $\mathcal{R}(X) = JCP(X)$  provided CP(X) is closed under forming finite joins of convex  $\ell$ -subgroups.

**Proof.** It is clear that JCP(X) is closed under taking convex  $\ell$ -subgroups and forming joins of convex  $\ell$ -subgroups. We proceed in the following two steps to show that JCP(X) is closed under forming the direct products.

(a) 
$$CP(X)$$
 is closed under forming the direct product. In fact, let  $\{G_{\alpha} \mid \alpha \in A\} \subseteq CP(X)$ , that is  $G_{\alpha} \in \mathcal{C}\left(\prod_{\alpha_{\lambda} \in \Lambda_{\alpha}} G_{\alpha_{\lambda}}\right)$  ( $\alpha \in A$ ) where  $G_{\alpha_{\lambda}} \in X$  for each  $\alpha_{\lambda}$ .  
Then  $\prod_{\alpha \in A} G_{\alpha} \in \mathcal{C}\left(\prod_{\alpha \in A} \left(\prod_{\alpha_{\lambda} \in \Lambda_{\alpha}} G_{\alpha_{\lambda}}\right)\right) = \mathcal{C}\left(\prod_{\alpha_{\lambda} \in \Lambda_{\alpha}} G_{\alpha_{\lambda}}\right)$ .  
(b) Let  $\{G_{\alpha_{\lambda}} \mid \alpha_{\lambda} \in \Lambda_{\alpha}\} \subseteq CP(X)$  and  $G^{\alpha} = \bigvee_{\alpha_{\lambda} \in \Lambda_{\alpha}} G_{\alpha_{\lambda}}$  where  $G_{\alpha_{\lambda}} \in \mathcal{C}(G^{\alpha})$ .  
( $\alpha \in A$ ). For each  $\alpha \in A$  put  $G_{\alpha_{\lambda_{1}}...\alpha_{\lambda_{n}}} = \bigvee_{i=1}^{n} G_{\alpha_{\lambda_{i}}}$  where  $\alpha_{\lambda_{i}} \in \Lambda_{\alpha}$  ( $i = 1, ..., n$ ).  
Let  $\mathcal{H}_{\alpha}$  be the set of all  $\ell$ -groups of the form  $G_{\alpha_{\lambda_{1}...\alpha_{\lambda_{n}}}$  ( $\alpha \in A$ ). By the assumption  
 $\mathcal{H}_{\alpha} \subseteq CP(X)$  and clearly  $\mathcal{H}_{\alpha} \subseteq \mathcal{C}(G^{\alpha})$ . By (a),  $\prod_{\alpha \in A} \{H_{\alpha} \in \mathcal{H}_{\alpha} \mid \alpha \in A\} \in CP(X)$ .  
It is also clear that each  $\prod_{\alpha \in A} \{H_{\alpha} \in \mathcal{H}_{\alpha} \mid \alpha \in A\}$  is a convex  $\ell$ -subgroup of  $\prod_{\alpha \in A} G^{\alpha}$ .

Then

(6) 
$$\bigvee \prod \{ H_{\alpha} \in \mathcal{H}_{\alpha} \mid \alpha \in A \} \subseteq \prod_{\alpha \in A} G^{\alpha}.$$

For any  $a = (\ldots, a_{\alpha}, \ldots) \in \prod_{\alpha \in A} G^{\alpha}$ ,  $a_{\alpha}$  belongs to some  $H_{\alpha} \in \mathcal{H}_{\alpha}$  ( $\alpha \in A$ ). Consequently,  $a = (\ldots, a_{\alpha}, \ldots)$  belongs to some  $\prod \{ H_{\alpha} \in \mathcal{H}_{\alpha} \mid \alpha \in A \}$ . Hence

(7) 
$$\prod_{\alpha \in A} G^{\alpha} \subseteq \bigvee \prod \{ H_{\alpha} \in \mathcal{H}_{\alpha} \mid \alpha \in A \}.$$

Combining (6) and (7) we get

$$\prod_{\alpha \in A} G^{\alpha} = \bigvee \prod \{ H_{\alpha} \in \mathcal{H}_{\alpha} \mid \alpha \in A \}.$$

Therefore  $\prod_{\alpha \in A} G^{\alpha} \in JCP(X)$ .

Thus JCP(X) is a product radical class containing X. It is obvious that JCP(X) is the smallest product radical class containing X.

In another paper we will determine the product radical classes generated by the integer group Z and by the real group R using the structure theory of a complete  $\ell$ -group [13] and Theorem 5.1. The main results are:

The following assertions are equivalent:

(1)  $G \in \mathcal{R}_{Z}$ ,

(2) G is an ideal subdirect product of Z,

(3) G is a complete  $\ell$ -group which has no continuous convex  $\ell$ -subgroup, and each convex  $\ell$ -subgroup of G has a singular element.

The following assertions are equivalent:

(1)  $G \in \mathcal{R}_R$ ,

(2) G is an ideal subdirect product of R,

(3) G is a complete  $\ell$ -group which has no continuous convex  $\ell$ -subgroup, and for each convex  $\ell$ -subgroup of K of G we have  $|K| > \aleph_0$ .

**Proposition 5.2.** Let G be an  $\ell$ -group. Then there exists a unique largest product radical class  $\mathcal{R}^G$  such that  $\mathcal{R}^G(G) = 0$ .

Proof.  $\mathcal{R}_G(G) = G$  implies  $\mathcal{R}_G^{\perp}(G) = [\mathcal{R}_G(G)]^{\perp} = G^{\perp} = 0$  by Theorem 4.1. Suppose that  $\mathcal{I}$  is a product radical class so that  $\mathcal{I}(G) = 0$  and  $\mathcal{I} \supseteq \mathcal{R}_G^{\perp}$ . Then

$$(8) \mathcal{I}^{\perp \perp} \supseteq \mathcal{I} \supseteq \mathcal{R}_G^{\perp}$$

and  $\mathcal{I}^{\perp\perp}(G) = (\mathcal{I}(G)^{\perp})^{\perp} = 0$ . On the other hand,  $(\mathcal{I}^{\perp\perp})^{\perp}(G) = [\mathcal{I}^{\perp\perp}(G)]^{\perp} = G$ , that is  $G \in \mathcal{I}^{\perp\perp\perp}$  and  $\mathcal{I}^{\perp\perp\perp} \supseteq \mathcal{R}_G$ . It follows from the formula (5) that

(9) 
$$\mathcal{I}^{\perp\perp} = (\mathcal{I}^{\perp\perp\perp})^{\perp} \subseteq \mathcal{R}_G^{\perp}$$

(8) and (9) infer  $\mathcal{I}^{\perp \perp} = \mathcal{R}_{\overline{G}}^{\perp}$  and  $\mathcal{I} = \mathcal{R}_{\overline{G}}^{\perp}$ . Thus  $\mathcal{R}_{\overline{G}}^{\perp}$  is the largest product radical class  $\mathcal{R}^{G}$  such that  $\mathcal{R}^{G}(G) = 0$ .

Corollary 5.3. For any  $\ell$ -group  $G, \mathcal{R}^G \cap \mathcal{R}_G = 0$ .

Since  $\mathcal{R}^G.\mathcal{R}^G(G)/\mathcal{R}^G(G) = \mathcal{R}^G(G/\mathcal{R}^G(G))$ , that is  $\mathcal{R}^G.\mathcal{R}^G(G) = \mathcal{R}^G(G) = 0$ , so  $\mathcal{R}^G$  is complete.

An  $\ell$ -group G is called 1'23'-homogeneous if for each product radical class  $\mathcal{I}$ , either  $G \in \mathcal{I}$  or else  $\mathcal{I}(G) = 0$ . If G is 1'23'-homogeneous, then  $\mathcal{R}^G$  is meet irreducible. Conversely, let a proper product radical class  $\mathcal{R}$  be meet irreducible. Let  $\mathcal{Y}$  be its cover. Select  $G \in \mathcal{Y} \setminus \mathcal{R}$ . Put  $G_0 = \mathcal{R}(G)^{\perp}$ . Then  $G_0 \neq 0$  and  $\mathcal{R}(G_0) = 0$  by Theorem 4.1. If  $\mathcal{I}$  is a product radical class with  $\mathcal{I}(G_0) \neq 0$ , then  $\mathcal{R} \vee \mathcal{I} \neq \mathcal{R}$  by the formula (4). Thus  $\mathcal{Y} \subseteq \mathcal{R} \vee \mathcal{I}$  and  $G_0 = \mathcal{Y}(G_o) \subseteq \mathcal{R}(G_0) + \mathcal{I}(G_0) = \mathcal{I}(G_0)$ , i.e.  $G_0 \in \mathcal{I}$ . Hence  $G_0$  is 1'23'-homogeneous. Clearly  $\mathcal{R} \subseteq \mathcal{R}^{G_0}$ . If  $\mathcal{R} \neq \mathcal{R}^{G_0}$ , then  $\mathcal{R} \subseteq \mathcal{Y} \subseteq \mathcal{R}^{G_0}$ . But  $\mathcal{Y}(G_0) = G_0$ , which contradicts  $\mathcal{R}^{G_0}(G_0) = 0$ . Therefore  $\mathcal{R} = \mathcal{R}^{G_0}$ .

The above discussion yields the following result:

**Theorem 5.4.** A product radical class  $\mathcal{R}$  is meet irreducible if and only if  $\mathcal{R} = \mathcal{R}^G$  for some 1'23'-homogeneous  $\ell$ -group G.

Corollary 5.5. Any meet irreducible product radical class is complete.

If G is 1'23'-homogeneous, then  $\mathcal{R}^G \vee \mathcal{R}_G$  is the cover of  $\mathcal{R}^G$ , and so  $\mathcal{R}_G$  is the cover of  $\mathcal{R}_G \wedge \mathcal{R}^G = 0$ . Hence  $\mathcal{R}_G$  is join irreducible. Conversely, if a product radical class  $\mathcal{R}$  is join irreducible, then since  $\mathcal{R} = \bigvee_{G \in \mathcal{R}} \mathcal{R}_G$ , we have  $\mathcal{R} = \mathcal{R}_G$  for some G in  $\mathcal{R}$ .

Finally, we give a sufficient and necessary condition under which an  $\ell$ -group G is 1'23'-homogeneous.

**Proposition 5.6.** Let G be an  $\ell$ -group. Then R(G) is lattice isomorphic into the interval  $[0, \mathcal{R}_G]$  of the lattice  $T_{1'23'}$ .

Proof. For each  $G_1 \in R(G)$ , put  $\varphi(G_1) = \mathcal{R}_G$ . It is easy to show that  $\varphi$  is a lattice isomorphism from R(G) into  $[0, \mathcal{R}_G]$ .

Since G is 1'23'-homogeneous if and only if  $|R(G)| \leq 2$ , we get

**Theorem 5.7.** An  $\ell$ -group G is 1'23'-homogeneous if and only if  $\mathcal{R}_G$  is an atom of  $T_{1'23'}$ .

### References

- [1] M. Anderson, T. Feil: Lattice-Ordered Groups (An Introduction), D. Riedel Publishing Company, 1988.
- [2] S. J. Bernau: Unique representation of Archimedean lattice groups and normal Archimedean lattice rings, Proc. London Math. Soc. 15 (1965), 599-631.
- [3] P. Conrad: Lattice-Ordered Groups, Tulane Lecture Notes, Tulane University, 1970.
- [4] M. Darnel: Closure operators on radical classes of lattice-ordered groups, Czech. Math. J. 37(112) (1987), 51-64.
- [5] A. M. W. Glass, W. C. Holland: Lattice-Ordered Groups (Advances and Techniques), Kluwer Academic Publishers, 1989.
- [6] W. C. Holland: Varieties of *l*-groups are torsion classes, Czech. Math. J. 29 (1979), 11-12.
- [7] J. Jakubik: Radical mappings and radical classes of lattice ordered groups, Symposia Math. 21 (1977), 451-477, Academic Press.
- [8] J. Jakubik: Products of radical classes of lattice ordered groups, Acta Mathematica Comenianae 39 (1980), 31-41.
- [9] J. Jakubik: Radical subgroups of lattice ordered groups, Czech. Math J. 36(111) (1986), 285-297.
- [10] G. O. Kenny: Lattice-Ordered Groups, Ph.D. dissertation, University of Kansas, 1975.
- [11] J. Martinez: Torsion theory for lattice ordered groups, Czech. Math. J. 25(100) (1975), 284-299.
- [12] J. Martinez: The fundamental theorem on torsion classes of lattice-ordered groups, Trans. Amer. Math. Soc. 259 (1980), 311-317.
- [13] Dao-Rong Ton: The structure of a complete  $\ell$ -group, submitted.

Author's address: Department of Mathematics and Physics, Hohai University, Nanjing, 210024, People's Republic of China.